oy

i -
o . o)

n be idealized as
0 m thick very soft
sand layer. Completely weathered rock

R4

s
evel,

e pla

¥ =

rade level is 2.0 m
hick together with

A

kN/m?jof the road and

onducting a series of laboratory cedometer 1
compression index (C;) and void ratio (gy)wert
respectively.

5.0 m?/year,1.18 and 2.75,

b} What are the purposes of placing geotextiles above and below the drainage layer?
{1.0 Marks]
c) What would be the expected primary consoclidation settlement of the very soft
peaty clay layer due to construction of the embankment assuming that peaty clay
is normally consolidated?
12.0 Marks]
What would be the time required for 95% of the primary consolidation to be
occurred?

e

[1.5 Marks]

e} If modified secondary compression index is 0.01, what would be the expected

secondary consolidation settlernent 3 year after the end of primary consolidation?

[2.5 Marks]

) If excess soil is removed upto the subgrade level after 95% of the primary
consolidation, what would be the expected removable soil fill height?

[1.5 Marks]
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